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ELECTIVE COURSE : COMMERCE 
ECO-14 : ACCOUNTANCY-II 

Time : 2 hours 	 Maximum Marks : 50 
Weightage : 70% 

Note : Attempt any four questions including question 

no. 1 which is compulsory. 

1. 	Attempt any two of the following questions : 	7, 7 

(a) What do you mean by Branch Accounts ? 
Explain their objectives. 

(b) Discuss the rights of the Hire Purchaser 
under hire purchase system. 

(c) What is a partnership deed ? Mention the 
provisions of the Partnership Act applicable 
in the absence of partnership deed. 

(d) How are profits prior to incorporation 
ascertained ? How are these profits treated 
in accounts ? 
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2. 	Calculate the following ratios from the details 12 
given below : 

(a) Current Ratio 

(b) Liquid Ratio 

(c) Operating Ratio 

(d) Gross Profit Ratio 

Details : 

Current Assets Z 70,000; Sales Z 1,40,000; 

Stock Z 30,000; Cost of Goods Sold Z 68,000; 

Sundry Creditors Z 30,000; Operating Expenses 

Z 50,000; Bank Overdraft Z 10,000. 

	

3. 	Giriraj Company Ltd. invited applications for 12 

10,000 shares 'of Z 100 each at a discount of 

6% payable as follow : 

On application 
	

! 30 

On allotment 
	

Z 24 

On Ist and Final call Z 40 

The applications were received for 9000 shares 

and all of these were accepted. All money due 

were received except the Ist and Final call on 

200 shares which were forfeited. Out of forfeited 

shares, 100 shares were re-issued @ Z 90 per share 

as fully paid. Journalise the transactions and also 

show how these transactions will be shown in the 

company's Balance Sheet. 
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4. On Ist January 2011, A Ltd. purchased a machine 12 
from B Ltd. on hire purchase system. The cash 

price of the machine was 34,000. The payment 

was to be made 10,000, on signing of the 

agreement and the balance in three equal 

instalments of 10,000 each at the end of each 

year. B Ltd. charges interest at the rate of 12% 

p.a. A Ltd. writes off 10% p.a. as depreciation on 

reducing balance method. A Ltd. could not pay 

the instalment due on 31st December 2012 and 

seller took possession of the machine. Make 

necessary ledger accounts in the books of A Ltd. 

5. (a) Why are assets and liabilities revalued at the 4, 8 
time of admission and retirement of a 
partner ? 

(b) How is goodwill treated when the incoming 

partner does not bring his share of Goodwill 

in cash ? Explain with examples. 

6. State the three systems of maintenance of accounts 12 
of a dependent branch. How are profit calculated 
under each system ? 
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